e
pebeetd |
TROWE -HRDOEAHERNBTEHERDSA . MILIRFICH - TRAILTTHIZELY,
[ OBRIGHEBESNBLTHYET . MIBF—FESHVECHBESIE. BT EORROUEFSETHRD I TEIRIZEL,

BM-24 BM-24S BM-28 BM-28S
—A&E210.4kg (1540 E2) SERI245.9kg (164RE) —H%B222.6kg (151 E) =ERI261.8kg (161 E)
HA-5004 x1 HA-5006 x1 HA-5004 x1 HA-5006 x1
E 1 EHE] 1 EHRE] 1 L] 1
7L —FA 2 7L —FA 2 7L —FA 2 7L —FA 2
7L —FB 2 7L —FB 2 7L —FB 2 7L — B 2
BHIFHEEA 2 HIFHEEA 2 BHIFHEEA 2 BHIFHEEA 2
HiFOEIEE 1 HiEHETEE 1 ENY ] 1 HiEHETEE 1
A EITRA 6 A ERTRB 6 A EBTIRA 6 AEITIRB 6

| | BERTRE 4 BERAIRE 4 | [ EERffRE 4 BERAIRE 4
BB/ X3 ILF R 6 EREELER 4 B/ R FR 6 ERETEER 4
Px vy 7A 4 | | | =mEEeEE 7 Px vy 7A 4| [ |=mEEeEE 4
MRy EYZY 6 B/ ILER 6 MAR vy EY Y 6 f2/ X IV ZIR 6
M6 Lk 166 Z* v v 7B 4 M6 L F 166 2% v v 7B 4
M67Z 2 F v b 2 M4R <y Y 2D 6 M67 5>+ b 2 M4ZR Y 2D 6
B 12 M6 L F 188 B 12 M6 F 188
FLLRIIR 9 M67Z>oF v b 2 HFELWRIIR 9 M67 7o+ v b 2
M8 x 20 L F 16 B 12 M8 % 207K )L 16 IR 12
M87 7Y+ v b 16 FELRIIR 9 M87Z>voF v bk 16 FELRIIR 9
M8 X 751l F 20 M8 % 207K/l F 16 M8 X 75K )L 20 M8 % 207K )L F 16
M8 X 80Kl k 2 M87 5> T F v k 16 M8 x 80Kl F 2 M87 5> T F vk 16
M8Fvv 7+ vk 22 M8 X 75K )L 24 M8F v v 7F v F 22 M8 X 757K )L 24
M87 v >+ — 44 M8F + v 7F v b 24 M87 v ¥ — 44 M8F v+ v 7+ v b 24
/¥y ¥ (2mm) 1 M8 >+ — 48 /Xy ¥ (2mm) 1 M8 vy > v — 48
E7L—F 1 Xy ¥ (2mm) 1 E7L—F 1 /Xy £ (2mm) 1
hr¥y 4 FE7L—F 1 h ¥y 4 ESL—F 1
Rk F v v ZN(GR) 9 AvTY 4 Rk F v v 7N(GR) 9 HoHFT 4
HIILkF ¥y ZNESD) | 19 RV b F v v IN(GR) 9 RV F ¥y ZNESD) [ 19 RIL k¥ ¥ v ZN(GR) 9
A — I 1 Rk F+ v 7NESD) [ 19 B — 1 AL kF vy 7NESD) | 19
BL~ — 7 iHiK 1 XS — L 1 BL~— 7 iEiR 1 AR —L 1
BikEEAE - RIS 1 BL~— 7 iEiR 1 EikERBAE - RAEE 1 BL~ — 7 iEfR 1
FENTERERE 1 BIkEAE - RIEE 1 FENEREAE 1 BIKERAE - RIEE 1
HEIFAEE 1 HEITHRAE 1
HA-2011 x1 HA-2011 x1
TS 2] HA-2011 x1 TS [ 2] HA-2011 x 1
[HERER [ 2] [HERER [ 2]
HA-2012 x 1 HA-2012 x 1
EEYS 1] HA-2012 X1 [ [EBE [ 1] HA-2012 x1
TS5 1] [HRE [ 1] T E5 | 1] [HRE [ 1]
X35 | 1] X35 | 1]
HA-5031 x 1 HA-5031 x 1
I@IES 2] HA-5033 x1 [[Z [ 2] HA-5033 x1
E=E3 [ 2] [ZTZ [ 7]
HA-2021 X2 HA-2021 X2
| [AE TR/ SR 1] HA-2021 X2 | [EE TR/ SR [ 1] HA-2021 X2
| |[BEm EE/ S FIL 1] [BIE B/ S F L [ 1] \ |BIEEE/ ST | 1] [BIE FRE/ SR [ 1]
I | 1] EE e 1
HA-5022 x1 HA-5023 x1
HBEFE/ SR IL24 1 HA-5022 x1 BE T E/ S IL28 1 HA-5023 x1
%BmEEE/ S IL24 1 BE T E/ 24 1 BEEE/ X IL28 1 B\ FEE/ N3 L28 1
BIFHE24 1 BEEE/ L2 1 B %28 1 BELE/ FL28 1
ETEY 1 HIFHE28 1
HA-5041 X2 HA-5043 X2
[ [BE24 (E) 2] HA-5045 x2 [ BE28 (E&) [ 2] HA-5047 X 2
[ZERE2 EE) [ 2] ZERE28 EiF) | 2]
HA-5051 x1 HA-5051 x 1
ES 25 1] HA-5051 x1 ESRS [ 1] HA-5051 x1
| |ERE 1] EEiR5 [ 1] | [ERE | 1 EZR5 [ 1]
|EiRE | 1] |ERE | 1]
HA-5072 X2 HA-5072 x 1
[ [ER/SFLR 2] HA-5072 X2 [ [ER/SFLR [ 2] HA-5072 x1
[EAR/SFILR [ 2] [EAR/SF LR [ 2]
HA-5073 x1 HA-5073 X 2
[ [ER/ xR 3] HA-5073 X1 =R [ 3] HA-5073 X2
[EMR/ SR [ 3] [EMR/ SR ]
HA-4081 x1 HA-4083 x 1
| [&EL#24 (B 1] HA-4081 x1 [ [&ELa2s EF) | 1) HA-4083 x 1
| [Fev2d ER) 1] [mRELA24 (ER) [ 1] | [EFEv2s ER) | 1 [=RELA28 (BF) [ 1]
|BF & 24 (BiK) | 1] |&T & 28 (EfK) | 1
HA-3350 x 1 HA-3350 x 1
=Tt (L=2000) 1 HA-4085 X1 7=T &\ (L=2000) 1 HA-4087 x1
FLT L0 3 [FFewzxn—7 @) [ 1] HLT LIRS0 3 [FewzR—7 (EF) [ 1
TEYFALE 1 TRYFALE 1
/Xy ¥ (2mm) 1 HA-3350 x1 Xy ¥ (2mm) 1 HA-3350 x1
YRALT7RTZ— 2 =T &L (L=2000) 1 YRALTETZ— 2 =T &L (L=2000) 1
Lt Fab 2 LT ILR80° 3 fY FiL 2 T LHR80° 3
YFLZ 2 TRYFALFE 1 YFLZ 2 TRYFALFE 1
SUSx T4 %25 2 8y ¥ (2mm) 1 SUSx T4 %25 2 Ny v (2mm) 1
EER 1 YFALTETE— 2 EEH 1 YFRALT7RTZ— 2
Lt Kb 2 Sy R 2
Y ELZ 2 YFLZ 2
SUS* P4 x 25 2 SUS* 4 x25 2
EER 1 EEA 1




Pl B
H 2 iH — R &
TROBE - BROBEHREATED
[ |o®RIc8EBES M MLTHYET . BIBH—FESNELBE L BT EOBROUEREECHREDIRTBHEIIEL,

RDIA. LB IZHE>THAILTTZEL,

BM-24L-2 BM-24L BM-24SL-2 BM-24SL
— % %337 .8kg (2518 2) —H§ %127 4kg (1018 E1) FERI399.3kg (274 D) FEHI153.4kg (1110 Q)
HA-5004 x1 HA-5005 x1 HA-5006 x1 HA-5007 x1
b 1 T 1 Bbana 1 L] 1
7L—FA 2 7L—FA 1 7L —FA 2 7L —FA 1
7L—FB 2 Z7L—FB 1 7L—FB 2 7L —FB 1
HIEHEEA 2 HiFHEEA 2 HiEHEEA 2 HIEHEEA 2
IRENTY 0] 1 IRENTY: 0] 1 EEHRAEE 1 IRENTN 0] 1
| |[BERMRA 6 | [BERfRA 3 BERMIRB 6 | |[BERf1RB 3
| |BER{TRE 4 || [ EEnARE 2 BERMAIRE 4 | [ [ EERHRE 2
T BAFLER 6 BT ILZIR 2 EREESER 4 B Z L EIR 2
Fx vy A 4 || [ [FevEREE 1| | =rEzE2EE 4 || | [swevERes 1
MAZyEY 2D 6 Zx vy 7A 2 | BARILEIR 6 Z*v vy 7B 2
M6RIL F 166 MAZ Y EV 2D 6 Z* v v 7B 4 VA% y EYxD 6
M67 5> T F vk 2 M6F L F 106 MAZ Yy EVZD 6 M6 L R 109
IR 12 M675>IF v 2 M6 F 188 M67 5> F vk 2
FHELFIR 9 F IR 5 M67 5 >3 F v b 2 B 5
M8 X 208/l F 16 LR IR 7 BT 12 FHELFIIR 7
M87 5o F v k 16 M8 X 208/l | 16 HEOFJR 9 M8 x 207K /L F 16
M8X 758/l | 20 M87 5> T F vk 8 M8 X 208 /L F 16 M87 5> F vk 8
M8 x 8071 /L b 2 M8 X 757RJL 10 M87 7Y+ v b 16 M8 X 757R )L b 12
M8F v 7+ vk 22 M8 x 8071 JL b 1 M8 X 757RJL 24 M8* v 7+ vk 12
M87 v ¥+ — 44 M8% ¥ v 7+ v b 11 M8F v v 7+ v b 24 M87 v ¥+ — 24
Xy x> 2mm) 1 M87 v v — 22 M87 v v — 48 AT 2
F7L— b 1 hr¥y 2 /Xy ¥ (2mm) 1 FRILFF v v 7N(GR) 7
ArHY 4 Rk F v v 7N(GR) 7 F7L—F 1 RIL bk F v v ZN(SD) 8
IR F ¥ v ZNGR) 9 FILF* ¥ v 7N(SD) 8 HoF 4 e 1
FILFF+ v 7NESD) | 19 e 1 FILF* v v 7N(GR) 9 BL¥ — 7 ik 1
FEI 1 BL~Y — 7 :HE 1 R RF vy FNESD) | 19 VAL e 1
BL~— 7 iR 1 FHILERARE 1 AR — 1
RiRFHAE - RS 1 BL~ — 7 3EE 1 HA-2013 x1
MRS 1 HA-2013 x1 IRIREEAE - RS 1 [ [HEgiH [ 1]
TG [ 1] HEFREAE 1 [ &S | 1]
HA-5005 x1 N |1
EY [ 1] HA-5007 X1 HA-5034 x1
<HEMIIERSE>— HA-5032 X1 [ [&&%E [ 1] [[=EZR [ 1]
[ [ 1] <FEHIIERSE>—
HA-2011 x1 HA-5022 x1
[ #EsEs [ 2] HA-5022 x1 HA-2011 x1 i FRE/ SR IL24 1
BE T/ 324 1 T =S [ 2] BmE B/ SFIL24 1
HA-2012 x1 HBE B/ 324 1 HiF D24 1
[ [#BE [ 1] FikoHE24 1 HA-2012 x1
TS | 1 [ [EBE [ 1] HA-5046 X2
HA-5042 X2 [ =Egs | 1 [ [=E8E24 GEF) [ 2]
HA-2013 x1 [ [BE24 &) [ 2|
[ [#5E+ [ 1] HA-2013 x1 HA-5073 X2
=&+ | 1] HA-5073 X2 [ [#si+ [ 1] EBIR/SF IR [ 3]
EAR/S3 LR [ 3] [ =&+ [ 1]
HA-5031 x1 HA-4082 x1
7 [ 2] HA-4082 x1 HA-5033 x1 [ (2B L#R24 &) [ 1]
[ =B L24 GER) [ 1] [ =52 [ 2] | [#FEuv24 GER) | 1
HA-5032 x1 | [#Feuv2d GER) |1
Z [ 1 HA-5034 x1 HA-4086 x1
HA-3350 x 1 [LIEE2R [ 1] [ [FFevwzo—7 GE® | 1]
HA-2021 X2 =T & (L=2000) 1
[ [ME TR/ SR [ 1] AT ILREO 3 HA-2021 X2 HA-3350 x1
[ @ EE s | 1] TRy FAE 1 [ [METFE/ FL [ 1] 7= & (L=2000) 1
Ry x> (2mm) 1 [ mEE L 1 FLTILR80° 3
HA-5022 X2 YRALTE T2~ 2 TRYFAUE 1
BE T B/ <324 1 AV FL 2 HA-5022 X2 Ny x> 2mm) 1
% ERE/ SR IL24 1 Y RLZ 2 HETE/ R IL24 1 YRALTET&Z— 2
BB 24 1 SUSH T4 %25 2 BE LB/ <ZIL24 1 ALY K 2
EEA 1 ETY: 7L 1 Y FrLE 2
HA-5041 x2 SUS* P4 x 25 2
[([BE24 EH [ 2] HA-5045 X2 EEE 1
HA-4081 x1 [ =88R EK) | 2]
HA-5042 x2 [ [=RLA24 (EE) [ 1
[ BE24 &) [ 2] [ [#Eved (ER) | 1 HA-5046 x2 HA-4082 x1
[ [=E8E24 (EH) [ 2] [ [&ELA24 B [ 1]
HA-5051 x1 HA-4082 X1 | [gFEuv24 GER) | 1
[ [ZERE [ 1] [ [=EL24 GE) [ 1] HA-5051 X1
| |ERE | 1] | [EFEv24 GE) | 1 [ [ERE [ 1] HA-4085 x 1
| |ERE | 1 [ [Fevzxon—7 EH [ 1
HA-5072 X2 HA-3350 X2
ER/ 3R [ 2] 7Z< &L (L=2000) 1 HA-5072 X2 HA-4086 x1
FLTILARB0 3 ER/SFILR [ 2] [ [Eewza—7 G&) [ 1
HA-5073 X3 TEYFXALE 1
EiR/SF IR [ 3] Xy F¥ (2mm) 1 HA-5073 x3 HA-3350 X2
YRALT7ET & — 2 ER/SF IR [ 3] 7=T&\ (L=2000) 1
HY RL 2 LT ILR80° 3
YFrILE 2 HA-4081 x1 TEYFALE 1
SUS*4x25 2 [ [&8KELs24 ER) [ 1 Xy x> (2mm) 1
EEA 1 | [Feves ER) | 1] YRLT7ETR— 2
LY R 2
PN 2
SUSH U4 x 25 2
EER 1




H 2 iH — R &

TROBE-BROBEHREARTES

RDIA. LB IZHE>THAILTTZEL,

[ |o®RIc8EBES M MLTHYET . BIBH—FESNELBE L BT EOBROUEREECHREDIRTBHEIIEL,

BM-28L-2 BM-28L BM-28SL-2 BM-28SL
— % %362.3kg (251) —A9139.7kg(111H @) FEHA30.7kg27IRE) RETH168.9kg(121RG)
HA-5004 x1 HA-5005 x1 HA-5006 x1 HA-5007 x1
b 1 T 1 Bbana 1 L] 1
7L—FA 2 7L—FA 1 7L —FA 2 7L—FA 1
7L—FB 2 Z7L—FB 1 7L—FB 2 7L—FB 1
HIEHEEA 2 HiFHEEA 2 HiFHEEA 2 HIEHEEA 2
ERETEYEY 1 | [EiroERAEE 1 EEHRAEE 1 IRENTN 0] 1
REETGTD 6 | |BERfRA 3 AERARB 6 | |BEERfRB 3
| |BER{TRE 4 || [ EEnARE 2 BERTRE 4 | [BER{TRE 2
T BAFLER 6 BT ILZIR 2 EREESER 4 B Z L EIR 2
Fx vy A 4 || [ [FevEREE 1| | =rEzE2EE 4 || | [swevERes 1
MAZyEY 2D 6 Zx vy 7A 2 | BARILEIR 6 Z*v vy 7B 2
M6FIL R 166 MAZyEV XY 6 Z*¥+v 7B 4 MAZ vy EYZD 6
M67 5> F vk 2 M6l R 106 MAZyEVZD 6 M6 IL R 109
VIR 12 M675>IF v 2 M6FL F 188 M67 5> T F vk 2
FHELFIR 9 F PR 5 M675>IF vk 2 F PR 5
M8 X 207 L F 16 LR IR 7 BT 12 FHELFIIR 7
M87 5> F v F 16 M8 X 208/l | 16 HEOFJR 9 M8 X 2078 /L F 16
M8 X 75 L F 20 M875>JF vk 8 M8 X 207 L F 16 M87 5> T F vk 8
M8 x 8071 /L b 2 M8 X 757RJL 10 M8Z7 7Y+ v b 16 M8 X 757R )L b 12
M8F ¥ v 7+ v b 22 M8 x 8071 JL b 1 M8 X 757RJL 24 M8F* ¥ v 7+ v b 12
M87 v ¥+ — 44 M8% ¥ v 7+ v b 11 M8F v v 7+ v b 24 M87 v ¥+ — 24
Ny EF> 2mm) 1 M87 v < v — 22 M87 v v — 48 A 2 2
FESL—F 1 hr¥y 2 /Xy ¥ (2mm) 1 FRILFF v v 7N(GR) 7
AvHY 4 RL b F v v 7N(GR) 7 F7L—+ 1 ALk F v v FN(SD) 8
IR F ¥ v ZNGR) 9 FILF* ¥ v 7N(SD) 8 HoF 4 AR —L 1
FILFF+ v 7NESD) | 19 e 1 FILFF ¥ v 7N(GR) 9 BL¥ — 7 iHiK 1
e 1 BL~ — 7 3EiK 1 R RF vy FNESD) | 19 Mz AAE 1
BL~ — 7 FiFfi 1 FESZAREAE 1 A - 1
iRt E - Rl S 1 BL~ — 7 SHE 1 HA-2013 x1
MRS 1 HA-2013 x1 IRIREEAE - RS 1 [ [+ [ 1]
TG [ 1] HEFREAE 1 [ &S | 1]
HA-5005 x1 S |1
EY [ 1] HA-5007 X1 HA-5034 x1
<HEMIIERSE>— HA-5032 X1 [ [&&%E [ 1] [[=EZR [ 1]
[ [ 1] <FEHIIERSE>—
HA-2011 x1 HA-5023 x1
[ #EsEs [ 2] HA-5023 x1 HA-2011 x1 i FAE/ SV 28 1
BETE/ 328 1 T =S [ 2] BmE B/ A3 IL28 1
HA-2012 x1 B LB/ <3128 1 HiEHE28 1
[ [#BE [ 1] FikH#E28 1 HA-2012 x1
TS | 1 [ [EBE [ 1] HA-5048 X2
HA-5044 X2 [ =Egs | 1 [ [=E8E28 GEF) [ 2]
HA-2013 x1 [ [BE28 GE®) [ 2]
[ [#5E+ [ 1] HA-2013 x1 HA-5072 X2
=&+ | 1] HA-5072 X2 [ [#si+ [ 1] EBIR/SF IR [ 2]
EAR/S3 LR [ 2] [ =&+ [ 1]
HA-5031 x1 HA-5073 x1
Eg [ 2] HA-5073 x1 HA-5033 x1 B/ IR [ 3]
ER/ S 3R [ 3 [ =52 [ 2]
HA-5032 x1 HA-4084 x1
2 [ 1 HA-4084 x1 HA-5034 x1 [ [=2ELa28 G [ 1]
[ [=ELA28 GEH) [ 1] [LIEE2R [ 1] | [#Fev28 GER) | 1]
HA-2021 x2 | [#rv2s ER) | 1]
[ [ME TR/ SR [ 1] HA-2021 X2 HA-4088 x1
[ [mE R/ s xor [ 1] HA-3350 x1 | |[AETE/ L [ 1] | [ Fevza—7 @& | 1
7=t &\ (L=2000) 1 [emEmEE xL | 1]
HA-5023 X2 AT ILEBD 3 HA-3350 x1
BETE/SFL28 1 TEYFAYE 1 HA-5023 X2 7= &\ (L=2000) 1
BEEE/ 28 1 /Sy F¥ (2mm) 1 HE FE/ <2128 1 AT LR8O 3
HiF»HHE28 1 YRALTETEZ— 2 %m B/ IL28 1 TEYFAVE 1
HHY FL 2 EFIY ) 1 Ny Fxy 2mm) 1
HA-5043 X2 YRLE 2 YRLTE T2~ 2
[ [BE28 (E#&) [ 2] SUS* P4 x25 2 HA-5047 X2 ALY K 2
EEA 1 [ [%TEE28 (EF) [ 2] Y RLE 2
HA-5044 X2 SUS* V4 %25 2
[ [BE28 (&) [ 2] HA-5048 X2 EEE 1
HA-4083 x1 [ [=58E28 ER) [ 2]
HA-5051 x1 [ [RELA28 (HE) [ 1]
[ [&ERE [ 1] [ [EFEuv2s (EF) | 1] HA-5051 x1 HA-4087 x1
ES S |1 [ [=%&A [(1] [ [Fevzxon—7 E®H [ 1
HA-4084 X1 | |ERE | 1
HA-5073 x5 [ [&RLAm28 GERD) [ 1] HA-4088 x1
ER/SFILR [ 3] | [#EF&v2s (&) | 1] HA-5073 x5 [ [Fevwza—7 GEH | 1]
ER/SF R [ 3]
HA-3350 X2 HA-3350 x2
7zT &\ (L=2000) 1 HA-4083 x1 7= &\ (L=2000) 1
AT IR0 3 [ [&EL#28 (B [ 1] AT ILHRB0° 3
TEYFXLE 1 | [FFEves ER) | 1] TEYFALE 1
/Xy ¥ (2mm) 1 /Xy F2 (2mm) 1
FRLTETR— 2 HA-4084 x1 YRLT7ETR— 2
AV R 2 [ [&ELA28 GER) [ 1) Y Fu 2
Y RLE 2 | [EEuves @R | 1] YRLE 2
SUS* T4 %25 2 SUSx* 4% 25 2
AR 1 AR 1




